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Total Marks : 120 (4 x 30)

Answer all questions

This Question Paper consists of 12 pages. Each Multiple Choice Question (MCQ)
is provided with four options (A}, (B), (C) and (D). Identify the correct option and
darken /fill the corresponding circle (A}/(B)/(C)/(D) with Blue/Black Ballpoint Pen
on the OMR Answer Sheet.

For each question, 4 marks will be awarded for correct answer and for each
wrong answer 1 mark will be deducted.
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1. Who first proposed the binomial nomenclature system?

{A) Robert Hooke (B) Carolus Linnaeus

(C) Aristotle (D) Robert Brown
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(A) 916 == (B) FraEsT At
(C) =IfEPhha (D) F4lb Aew

2. The number of capsomeres in the Toabcco mosaic virus capsid is

(A) 3210 (B} 1230

(C) 2130 (D) 2031
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(A) 3210 B) 1230

() 2130 (D) 2031

3. Teichoic acids are found in the cell walls of

(A) Gram-positive bacteria (B) Gram-negative bacteria

(C) Rhodophyta (D) Bryophyta
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4. Which one of the following is an example of aquatic floating Bryophytes?

(A) Riccia atlantica (B) Preris vittata

(C) Riccia fluitans (D) Marchantia polymorpha
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(A) Riccia atiantica (B) Pteris viltata

(C) Ricca fluitans (D) Marchantia polymorpha
5. Heart is three-chambered in which of the following classes of animals?

AT 1bia ves
(A) Amphibi B) A

(C) Chondrichthyes (D) Osteichthyes
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6. When the stamens remain united with petals, then it is called

(A) Epipetalous (B) Episepalous

(C) Gynandrous (D) Synandrous
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7. Which one of the following is net a type of protostele?

{A) Haplostele (B} Actinostele

(C) Plectostele (D) Atactostele
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8. Sunken stomata is found in the leaves of

[A) Nerium (B} Lathyrus

(C) Pisum (D) Gloriosa
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[A) Nerium (B} Lathyrus

(C) Pisum (D) Gloriosa

9. Which one of the following statements is not correct?

{A) Maltase converts maltose into glucose

(B) Lipolytic enzymes hvdrolyse fats and lipids

[C) Amylase is a proteolytic enzyme

(D) Nuclease causes the hydrolysis of nucleic acid
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10. The colourless plastids that store starch are called

(A) Amyloplast (B) Elaioplast

(C) Proteinoplast (D) Pheoplast
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(A) SIS (B) 4#5SHTH

(C) coifrAre G (D) TS
11. In which organelle the enzyme catalase is found?

(A) Lysosome (B) Peroxisome

(C) Oxysome (D) Quantasome
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12. The enzyme responsible for the conversion of glucose to glucose 6-phosphate is

(A) mutase (B) aldolase

(C) P-ketothiolase (D) hexokinase
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13. Kranz anatomy is the characteristic feature of

{A) CAM plants B) C, plants

ants ot an . anis
Q) C,pl D) Both CAM and C, pl
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14. Which one of the following elements is an essential micronutrient for plants?

[A) Nitrogen (B) Potassium

(C) Calcium (D) Boron
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(A) FELTE (B) +Gif#ram

(C) SreThTE (D) catas

15. Which of the following cells are not the secretory cells of the stomach?

(A) Mucous cells (B) Parietal cells

[C) Stem cells (D) Peptic cells
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16. The enzyme responsible for conversion of trypsinogen to trypsin is

(A) enteropeptidase (B) amylase

(C) lipase (D) dehydrogenase
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(A) GBTATbIETTE (B) SHIZLES
(C) =EAS (D) TeZIEnglie-s

17. The process of development of fruit without fertilization is called

(A) apomixis (B) parthenocarpy

(C) polyembryony (D) pleiotropy
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(A) SRR (B) AR

(C) “ferawarai I RELE

18. Ringelmann scale is used to measure the density of which one of the following?

(A) Fog (B) Polluted water
(C) Rain (D} Smoke
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19. Nanda Devi Biosphere Reserve is located in the State of

(A) Kerala (B) Uttarakhand

(C) Karnataka (D) Tamil Nadu
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(A) @A B) TeAT
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20. Roval Jelly is secreted by which of the following honeybees?

(A) Queen honeybees (B) Worker honevbees

(C) Drone honeybees (D] Both queen and drone honeybees
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21. Which one of the following is an example of monoestrous animal?

(A) Rat (B) Horse

(C) Cat (D) Dog
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22. Semiconservative replication of DNA was discovered by

{A) Pasteur and Jenner (B) Meselson and Stahl

(C) Krebs and Khorana (D} Harvey and Berg
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23. The restriction endonuclease BamHI is obtained from

(A) Arthrobacter luteus (B) Bacillus megaterium

(C) Bacillus amyloliquefaciens (D} Bacillus cereus
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(A) Arthrobacter luteus (B} Bacillus megaterium

(C) Bacillus amyloliquefaciens (D} Bacillus cereus
24. In C, plants, the first stable compound of photosynthetic CO, fixation is
(A) 3-Phosphoglyceric acid (B) Phosphoenolpyruvic acid

(C) Oxaloacetic acid (D} Pyruvic acid
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25. Which one of the following is net a pentose sugar?

(A) Ribose (B} Arabinose

(C) Xylulose (D) Galactose
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(A) qEATS (B) SIS
(C) @S (D) =G

26. Which one of the following disorders is caused by the deficiency of iodine in food?

[A) Anaemia (B) Goitre

(C) Ketosis (D) Jaundice
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(A) TEIFS (B) 1AL
(C) RbiFm (D) sfe

27. Which one of the following is a natural anticoagulant substance?

[A) Sodium citrate (B} Albumin

(C) Heparin (D) Creatinine
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28. The number of immunoglobulin classes found in human being is

(A) 10 (B) 5

(C) 12 D)} 6
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(A) 10 B) 5

(€) 12 (D} 6

29, The vector of the disease Kala-azar is

(A) fruit fly (B) tsetse fly

(C) female sandfly (D) Aedes mosquito
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30. Oral contraceptive pills help in birth control by

(A) killing sperms (B) killing ova
(C) preventing ovulation (D} formation of barrier hetween sperm and
ova
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